What the matters are made out of ?
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@@ Quarks are very strange !
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Elements of the Standard Model
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Standard Model

Higgs field (1) must exist to

-

QCD of strong interactions (1973)

Potential Energy
by Higgs field

D=Higgs field
free motion

Glashow-Weinberg-Salam Model
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Therefore

h=wave function
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Sea of the Higgs field

(weak force sensitive)

~s__ . SUSY particles may exist ?

SUSY = symmetry between Bosons and Fermions.
Spins of SUSY particles differ 1/2 from those of SM.
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If SUSY particles exist
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